
CIRCUITO 1

CIRCUITO 2

CABINA DI CONSEGNA
Cella L2 Cella L1Consegna

S=500 mm

L=10.770 m; I=223 A
2 S=150 mm

L=1.430 m; I=111 A
2

WTG.03

S=1.260 mm

L=150 m; I=949 A
2

SE TERNA
150/36 kV

Cella L3

CIRCUITO 3

WTG.02

S=500 mm

L=5.840 m; I=223 A
2 S=150 mm

L=4.400 m; I=111 A
2

WTG.01WTG.04

L=1.220 m; I=111 A

S=630 mm

L=4.960 m; I=334 A
2

WTG.07 WTG.06 WTG.05

S=150 mm2

Accumulo

IMPIANTO DI ACCUMULO
Pn=10 MW, 40 MWh

CIRCUITO Accumulo
S=150 mm

I=169 A
2

L=1.920 m; I=111 A

S=150 mm2


	Fogli e viste
	Unif. MT


